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Total No, of Questions : 1) [Total No. of Printed Pages : 12 (?hOOSB the correct answer :
(i) R-sRfe gord g g€
() w7 1949
(MW &7 1494
AY-332 (|) @ 1499
B.Com. (Hon's) I** Year (Reg./Suppl/Ex.) (x) &7 1944
Examination, 2019 N B Double entry system was started in the yedll
Account Group -:é* -.:;‘* (a) years 1949
Paper -1 g‘ g" (b) years 1494
Financial Accounting E i (c) years 1499
= = (d) years 1944
Time : 3 Hours] [Maximum Marks: 40 £ 2 (i) sRwd g@ wmar o g -
= =
Az -  Tf g grg § R W FEwgER & S S 2 (@) R
Note :- Attempt all questions as directed in section. = s (¥ LS Ll
o - @ (®) el w=fy o
SECTION - 'A' | (@ o e o
RS I 1x5=5 (E;'ef}f Year depreciation jg charged on :
. a)  Liabilitieg )
iecti estions
| Objective Type Qu ®) Current
AY-332 : (1) PT.O. () Fixed Assets
@  Closing Stocy
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4.90:000 6o 1 MR <t cwn o @t vt war a1t -
(31) &0 40,000 '

(%) 5o 80,000

(8) %o 60,000

(¥ %o 1,00,000

If the rate of gross profit for department x is 25% of
cost the amount of gross profit on a tumover of Rs.
4,00,000 will be : http://www.onlinebu.com
(a) Rs. 40,000

(b) Rs. 80,000

(c) Rs. 60,000

(d) Rs. 1,00,000
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: ]
unt of general reserve is transfcng

The amo S
. tis:
partner's capital aceod”

() Ncw profit sharing ratio
.(b) Capital ratio

(c) Equal | |
(d) old profit sharnng ratio

ﬁ%wmaﬁﬁﬁﬂﬂaﬂ?ﬁ@ﬁﬂ!

fear vl ® -
(@) g T E
(@ a@R @ W 1 é
(@) &AW : %
(@ @ & @ T :
The balance of all assets are transferred to rcali* %

account in firm dissolution :
(a) on book value
(b) on market value
{c) on purchases value
(d) None of these
qz - T
SECTION - 'B'
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ag I 5x2=10 S, gl o F g ?
| Short Answer Type Questions What is partnership degd ?
AT - gft TF 3 ST AT IS g Q& W\ R HF@VOR
Note :- Attempt all questions. Each question carries 2 marks. 3, I F 4:3:23 opgum F - B e A &
2. @ Sy @R § Y T FEA & 7 TR BT A w3 o d 1/3 R B ol waw R
What do you understand by periodicity concept ? w8 T ar-gity R o @ T IR
Jgal/OR A. B and C are partner sharing profits in the ratio of 4:3:2
gt # Ao F B @ P B 7 3 B D is admitted for 1/3 share in future profit calculate the
What are the rules of making journal entries in accounts ? _g = new profit sharing ratio.
3. Iy @R I @ @t F ao FART) g g 6. TF & Rges 1 arcERa R |
Explain the advantages of preparing final accounts. = = Write the circumstances for dissolution of the firm.
Jar/OR %- %‘ Haq1/OR
— —_ ) N
S g e & F@ RE 87 ;:} S ﬁmﬁmm%ﬁ@mﬁ@maa%mm%?
What are the objects of bank reconciliation statements. % % How is capital account of the‘ lrfsulvent partner closed ?
4 ma@mmma@mawﬂmu q7e - ‘|
' . . tem and double entry SECTION - 'C’
Distinguish between single entry system
& I g 5x5=15
system. .

JaT/OR Long Answer Type Questions
@Wmﬂﬁw@l e - TN gEl 3 I AR TS 9 i O W B
Explain preferential creditors. Note :- Attempt all questions. Each questions carries 5 g,

P.T.O.
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-, Pty o 4 Prem e gt 8, vl ooz ol wnatarethediﬂ'erentkindsofcasbeOK?GivelJ
Prepare correct trial balance from the following trial bal- account of each.
ance in which there are mistakes : 8. 37 BTN & FA9 T ot BT R I 3 T I T ez g
v RN H R F e T e ¥ ?
Dr. Cr. State briefly the reasons of disagreement between the by
ﬁ%gﬂqﬁﬁw 1,50,000 - ance in the pass book and that of the cash book ?
Cost of gross sold - TR
e v Closing stock = 40,000 = =3 @ﬁﬁﬂﬁﬂ‘@]ﬁﬁfﬂﬁﬁﬁﬂﬁﬂmﬁﬁﬁﬂfﬁﬁl
3t Debtor _ 60000 = 2 T 2013 3 50,000 B0 ¥ UF 7T H7 F 31 JAE 2014
. 30000 z z # 10,000 5o 3l 1 =l 2017 F 16000 To A R
dar Creditors ' § g 7t ol & A i1 1 T 2013 B F9 A T 10,000 Bo
sl gl Fixed Assets 50,000 - F = 3 T @ 3097 2016 % 5,000 5o F ey ) o af B
g Tefrl Opening stock 60,000 - E E R oy @ s w9 10% sfvad # T & FE TW
=50 Expenses - s R a R
Al Sales - 2,00,000 A manufacturing company whose books are closed on 31
i'ff Capital 90,000 - Dec. purchased machinery for Rs 50000 on 1% Jan. 2013,
3,50,000  3,50,000 Additional machinery was aquired for Rs.10,000 on 3]1*
SEOR July 2014 and for Rs. 16000 on 1% Jan.2017. certain
mﬁmﬁﬂt?m“mmml machinery purchased for Rs. 10,000 on 1 Jan. 2013 was
I8 @ Sold for Rs. 5,000 on 30% June 2016, show the machinery
PT.0.
AY-332 @ AY-332 (8) |
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4+ uont for five years writing of depriciation of 10% per

.11y on written down value,

A i @ 8 7 R Rt A s ot & e #

gl @ A S |

What is departmental accounts explain the basis of allot-

ment of indirect expenses to various departments.
9q/OR

o fr. 3 190 2017 A S o v R # @

prey Rl & 99 20177 20183 R RRw o @ 94 -

The Kamnik Ltd. opened a branch at Vidisha on 1* Jan 2017

e following particulars prepare vidisha branch ac-

il

from d 2018
he year 2017 an :
count for the y 2017 2018
Rs. Rs.
45,000  1,35,000
Rfea @ A H
Goods sent to Vidisha
qrar H 168 Ll
Cash sent to branch for €000 6000
foran Rer{t 4800 6,800
= = Other eXpensess ’
PT.0.
AY-147 ®
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e 3 3 T 70,000 ‘-%I

Cash received form branch '

31 Rt i el 7,000 261%

Stock on 31% Dec.

31 RE & ge 158 120 ™
Petty cash on 31% Dec "

10. 91,3, 3l 9 o o F g WA 81 1 T 2013 9% g
Tt FW: 14000 5o 16000 SR 18000 Bo €1 7t 205
T = F § A 9¢ T T B W 0 S
B R F @ G W 5% A = ) e g g
T & 1 E ¥ g 7 gen ¥ Ried A aRedw 50 3 amy
I ¥ & qrow F gw qwEeT B R aRRe B A o g
T g R G e 1 R, vk o iR
A,B and C are equal pertners in a firm their capital on Ist
jan. 2018 were Rs. 14000, Rs.16000 and Rs,18000
respectivily. After closing the accounts of 2018, it was

WO ngauuo sy diy

discovered that according to the partncrship deed interes

@ 5% per annum on partners capital was not ]:vrtl'i'l‘f"i

AY-332 (10)
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mmkctheadjumnemmuyﬂ'm ining of the next
ymmtherﬂmntnalterthcha]mmlpm&
iﬂmcﬂwmiﬂsﬂmtﬁec@wmmﬁm.

SW/OR

mmmﬁmﬂmmwﬁmmﬁmm

CaE ﬁ Gﬂﬁ % ? I"Ip'-"-'.l“.l“:“'f-Unnnubli_cnnl

Howisﬂ\eamnmupayahletomﬁsingmismlmﬂmd?

1.3 3 T & WERA Y I 2:2:1 3 st o ey aicd

&) T F Rt Bt o e @ o 8 3 o
mﬁl@ﬁﬁlﬁfﬁam;

A bo Ll To
Th @ s 6,500
3 17,000 THAIB T & | 15,000
g 3,000
| 1,500 21,500

21,500 21,500

% TERN B 7 PR R, 98 W BT 6 9 Rafa
2 o 2 At 3ad 3 500 To W ¥ 1 R ¥ X & Fri

3 orER A9 A B |
AB and C are partners sharing profits and losses in the
AY-332 (11) PTO.
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ratioof 2: 2 : | after dissolving partnershjpg ang
of assests their balance sheet was as followy . 'bﬁlhw
: ;

Liabilities Rs. Assets
Capital A/c : Cash —"'"‘*\\R,
A 17,000 Loss on R“ﬂisalign }ngj
B 3,000 ls,%
L~ 1500 21,500
- 21,500

Show what amount wil] be reuevempajmw
suming that become invsolven N
t and only Rg
- 500
Wen

dccounts by Gar

rcieved from him, Prepare necessory
¥s. Murray decision.

What accounting recorg

is made in the boo
“hﬁ‘naparmmhipﬁnn ksoftheﬁrm

15 50ld to a limiteg company ?
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